TASK: Weapons of Math Destruction
1. Solve Equation (Label diagram, let statement, properties

2. Create 2 questions ( Question 1: Find variable

                                 ( Question 2: Higher Order

3. Double Rationale Table ( Create 4 answer choices
                                       ( Describe why answer is correct/incorrect                                       
	Situation
	Solve/Label

	SHOPPING You purchased an outfit that costs $68.  The shirt was $10 less than the pants.  

P + P - 10 = 68
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